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Chapter 8:
Radicals

So,if | just do the homework
my grade will improve?




Lesson 8-4: Radical Form

Vocabulary

n i .
Radical: "\ }Fi..nr]m% the Toor Of a numbeyr

Review...
xz= { X <« squave vpot of %

x*= X « (ube Yoot OF X
X¥5= Rk « 5 ypot of X

nth root of x _toOY any  non- naohive  yeal 4 X and
v> J ‘/ﬂ .
oy ieay N7 \DT = X

So...what about this? x 48 = (X@)q = (i]_y—()q — i]—z'r

Root of a Power Theorem: ﬁ)‘( GYN ﬂon*ﬂfaaﬂ\/ﬁ’ ol F X

b oany invger n2z  Yx™ = ()" = X"

Practice

Evaluate without a calculator.

.32 = 32" 2 Y5 = 257
- (2] 5

Estimate to the nearest hundredth. * US€ (A ¢alculator | *

34829 - 4q19” 4 15 =15 5 42401 = M\



Simplify.

6.

Rewrite each radical as a rational exponent.

8.

4/ 8
X

Az

W

—
-—

—_—

I

—
—

&
X

]

(x=)"*

iz

1



Lesson 8-7: Radicals w/ Negatives

Vocabulary

nth root of a negative number:  Wheri X 1§ neaahve XI 0SS an
dd inwger >2 X stands Ry e veal ath mor of .
- Aroot is always ‘defined" (has an answer) if xis __ DO{111V¢e
e lixis neaiaﬁwo itis only “defined if n s 0dd
+ Ifxis_NOANIVE and nis _0(d__ then the answer will be
hﬂ(}l(}\ﬂ\/f/

« Exception: we can take the square root of a NO} anvé, number,

however the answerisnot __ Y2Q\ itis \ma%fﬂ(h\/\ﬁ (i)

What'’s the Difference???

I-s° Y=s
RECE (1505 = [29)

Practice

Evaluate.

{2y b J2F = Yzmw
N8z = [ -

Simplifying Radicals: ‘Pmd\f\@ GYOU% 08 toctons & QU”IW‘
thewr ot of the md\ml T # 0+ ovoups djﬂpfdnds

" 011
Example: .,jﬁ % canF be dove wl a on “H(\Q YDO‘I'_
N

Sﬂo‘gf ,  Qlovlaror - 0o decivals By an anowey!
<

YOUps 0F \

qz! E?’] = Z\\/?)

pUlt oL \KONi 3
g 2 & INSide




JGF - 0{;‘-\ qrprbF%

O ruopS ren reg. - firss

implify {6\ l;‘l neck ’rofj seeifits
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Lesson 8-8: Solving w/ Radicals

Vocabulary

Extraneous Solution: \{2 a_Solvton C]D(’S NOT ChﬁCK y
the ovigina ion — 0nEwer 1SN0 Solukon

Practice

Solve & check your answers!

5 \i_q/;ﬂo | s 12+3t=9
) > pownt L e
W51 (e ey
St Y\ "noSotvtion (t c2)

Gﬁ‘;tﬂ“‘ ‘t‘;' -ZHB_E J/

5. @im" =12 6. fg—5=10
o 0

7 \"
(47)=@)’ (9-5)- 6y
(i = WE

m=4)/ | [9=30| v



